KYUNGPOOK Math. J. 50(2010), 433-445

## Partial Sums of Starlike Harmonic Univalent Functions

SAURABH PORWAL\* AND KAUSHAL KISHORE DIXIT

Department of Mathematics, Janta College, Bakewar, Etawah-206124(U. P.) India e-mail: saurabhjcb@rediffmail.com and kk.dixit@rediffmail.com

ABSTRACT. Although, interesting properties on the partial sums of analytic univalent functions have been investigated extensively by several researchers, yet analogous results on partial sums of harmonic univalent functions have not been so far explored. The main purpose of the present paper is to establish some new and interesting results on the ratio of starlike harmonic univalent function to its sequences of partial sums.

## 1. Introduction

A continuous complex-valued function f = u + iv is said to be harmonic in a simply connected domain D if both u and v are real harmonic in D. In any simply connected domain we can write  $f = h + \overline{g}$ , where h and g are analytic in D. We call h the analytic part and g the co-analytic part of f. A necessary and sufficient condition for f to be locally univalent and sense-preserving in D is that  $|h'(z)| > |g'(z)|, z \in D$ . See Clunie and Sheil-Small [2].

Denote by  $S_H$  the class of functions  $f = h + \overline{g}$  which are harmonic univalent and sense-preserving in the unit disk  $U = \{z : |z| < 1\}$  for which  $f(0) = f_z(0) - 1 = 0$ . For  $f = h + \overline{g} \in S_H$  we may express the analytic functions h and g as

(1.1) 
$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = \sum_{k=1}^{\infty} b_k z^k, \quad |b_1| < 1.$$

For basic results on harmonic functions one may refer to the following standard introductory text book by Duren [4], see also Ahuja [1].

Note that  $S_H$  reduces to the class S of normalized analytic univalent functions if the co-analytic part of its member is zero.

A function f of the form (1.1) is harmonic starlike of order  $\alpha$ ,  $0 \leq \alpha < 1$ , denoted by  $S_H^*(\alpha)$ , if it satisfies

$$Re\left\{\frac{zh'(z)-\overline{zg'(z)}}{h(z)+\overline{g(z)}}\right\} \ge \alpha, \quad z \in U.$$

\* Corresponding Author.

Received April 19, 2010; accepted September 16, 2010.

2000 Mathematics Subject Classification: 30C45.

Key words and phrases: Harmonic, univalent, starlike, partial sums.

<sup>433</sup> 

We further denote by  $TS_{H}^{*}(\alpha)$  the subclass of  $S_{H}^{*}(\alpha)$  such that functions h and g in  $f = h + \overline{g}$  are of the form

(1.2) 
$$h(z) = z - \sum_{k=2}^{\infty} |a_k| z^k, g(z) = \sum_{k=1}^{\infty} |b_k| z^k, |b_1| < 1$$

As shown recently by Jahangiri [7] a sufficient condition for a function of the form (1.1) to be in  $S_H^*(\alpha)$  is that

(1.3) 
$$\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=1}^{\infty} \frac{k+\alpha}{1-\alpha} |b_k| \le 1.$$

For functions f of the form (1.2) above mentioned sufficient condition is also necessary. For detailed study see [7].

Several authors (e.g., see [3], [5], [6], [8], [9], [10], [12]) studied the partial sums of analytic univalent functions, yet analogous results on partial sums on harmonic univalent functions have not been so far explored. Motivated with the work of Silverman ([10], [11]) an attempt has been made to systematically study on the ratio of starlike harmonic univalent function to its sequences of partial sums.

We let the sequences of partial sums of functions of the form (1.1) with  $b_1 = 0$  are

$$f_m(z) = z + \sum_{k=2}^m a_k z^k + \sum_{k=2}^\infty \overline{b_k z^k}, f_n(z)$$
$$= z + \sum_{k=2}^\infty a_k z^k + \sum_{k=2}^n \overline{b_k z^k}, f_{m,n}(z)$$
$$= z + \sum_{k=2}^m a_k z^k + \sum_{k=2}^n \overline{b_k z^k},$$

when the coefficients of f are sufficiently small to satisfy the condition (1.3).

In the present paper, we determine sharp lower bounds for 
$$Re\left\{\frac{f(z)}{f_m(z)}\right\}$$
  
 $Re\left\{\frac{f_m(z)}{f(z)}\right\}, Re\left\{\frac{f'(z)}{f'_m(z)}\right\}, Re\left\{\frac{f'_m(z)}{f'(z)}\right\}, Re\left\{\frac{f(z)}{f_n(z)}\right\}, Re\left\{\frac{f_n(z)}{f(z)}\right\}, Re\left\{\frac{f(z)}{f_{m,n}(z)}\right\},$   
 $Re\left\{\frac{f_{m,n}(z)}{f(z)}\right\}, Re\left\{\frac{f'(z)}{f'_{m,n}(z)}\right\}$  and  $Re\left\{\frac{f'_{m,n}(z)}{f'(z)}\right\}$ , where  $f'(z) = \frac{\partial}{\partial\theta}f(re^{i\theta})$ .

## 2. Main results

In our first theorem, we determine sharp lower bounds for  $Re\left\{\frac{f(z)}{f_m(z)}\right\}$ .

**Theorem 2.1.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.1) 
$$Re\left\{\frac{f(z)}{f_m(z)}\right\} \ge \frac{m}{m+1-\alpha}, \quad (z \in U)$$

The result (2.1) is sharp with the function

(2.2) 
$$f(z) = z + \frac{1-\alpha}{m+1-\alpha} z^{m+1}.$$

Proof. We may write

$$\begin{split} &\frac{1+\omega(z)}{1-\omega(z)} \\ &= \frac{m+1-\alpha}{1-\alpha} \left[ \frac{f(re^{i\theta})}{f_m(re^{i\theta})} - \frac{m}{m+1-\alpha} \right] \\ &= \frac{1\!+\!\sum_{k=2}^m a_k r^{k-1} e^{i(k\!-\!1)\theta} \!+\! \sum_{k=2}^\infty \overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} \!+\! \frac{m\!+\!1\!-\!\alpha}{1\!-\!\alpha} \left[ \sum_{k\!=\!m\!+\!1}^\infty a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} \right]}{1\!+\! \sum_{k=2}^m a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} \!+\! \sum_{k=2}^\infty \overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta}} \end{split}$$

So that  $\omega(z)$ 

$$=\frac{\frac{m+1-\alpha}{1-\alpha}\left[\sum_{k=m+1}^{\infty}a_{k}r^{k-1}e^{i(k-1)\theta}\right]}{2+2\left(\sum_{k=2}^{m}a_{k}r^{k-1}e^{i(k-1)\theta}+\sum_{k=2}^{\infty}\bar{b}_{k}r^{k-1}e^{-i(k+1)\theta}\right)+\frac{m+1-\alpha}{1-\alpha}\left(\sum_{k=m+1}^{\infty}a_{k}r^{k-1}e^{i(k-1)\theta}\right)}$$

Then

$$|\omega(z)| \le \frac{\frac{m+1-\alpha}{1-\alpha} \left[\sum_{k=m+1}^{\infty} |a_k|\right]}{2-2\left(\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{\infty} |b_k|\right) - \frac{m+1-\alpha}{1-\alpha} \left(\sum_{k=m+1}^{\infty} |a_k|\right)}.$$

This last expression is bounded above by 1, if and only if

(2.3) 
$$\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{\infty} |b_k| + \frac{m+1-\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} |a_k| \right) \le 1.$$

It suffices to show that L. H. S. of (2.3) is bounded above by  $\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=2}^{\infty} \frac{k+\alpha}{1-\alpha} |b_k|, \text{ which is equivalent to}$   $\sum_{k=2}^{m} \frac{k-1}{1-\alpha} |a_k| + \sum_{k=2}^{\infty} \frac{k-1+2\alpha}{1-\alpha} |b_k| + \sum_{k=m+1}^{\infty} \frac{k-m-1}{1-\alpha} |a_k| \ge 0.$  To see that  $f(z) = z + \frac{1-\alpha}{m+1-\alpha} z^{m+1}$  gives the sharp result, we observe that for  $z = r e^{i\pi/m}$  that

$$\frac{f(z)}{f_m(z)} = 1 + \frac{1 - \alpha}{m + 1 - \alpha} z^m \to 1 - \frac{1 - \alpha}{m + 1 - \alpha} = \frac{m}{m + 1 - \alpha},$$

when  $r \to 1^-$ .

We next determine bounds for  $Re\left\{\frac{f_m(z)}{f(z)}\right\}$ .

**Theorem 2.2.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.4) 
$$Re\left\{\frac{f_m(z)}{f(z)}\right\} \ge \frac{m+1-\alpha}{m+2-2\alpha}, \qquad (z \in U)$$

The result (2.4) is sharp with the function given by (2.2). Proof. To prove Theorem 2.2, we may write

where

$$|\omega(z)| \le \frac{\frac{m+2(1-\alpha)}{1-\alpha} \left[\sum_{k=m+1}^{\infty} |a_k|\right]}{2-2\left(\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{\infty} |b_k|\right) - \frac{m}{1-\alpha} \left(\sum_{k=m+1}^{\infty} |a_k|\right)} \le 1.$$

This last inequality is equivalent to

(2.5) 
$$\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{\infty} |b_k| + \frac{m+1-\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} |a_k| \right) \le 1.$$

Since the L. H. S. of (2.5) is bounded above by  $\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=2}^{\infty} \frac{k+\alpha}{1-\alpha} |b_k|$ , the proof is evidently complete.

436

We next turn to ratios for  $Re\left\{\frac{f'(z)}{f'_m(z)}\right\}$  and  $Re\left\{\frac{f'_m(z)}{f'(z)}\right\}$ .

**Theorem 2.3.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.6) 
$$Re\left\{\frac{f'(z)}{f'_m(z)}\right\} \ge \frac{\alpha m}{m+1-\alpha}, \qquad (z \in U).$$

The result (2.6) is sharp with the function given by (2.2). Proof. We may write

The required result follows by using the techniques as used in Theorem 2.1.  $\Box$ **Theorem 2.4.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.7) 
$$Re\left\{\frac{f'_m(z)}{f'(z)}\right\} \ge \frac{(m+1-\alpha)}{(m+1-\alpha)+(m+1)(1-\alpha)}, \quad (z \in U).$$

The result (2.7) is sharp with the function given by (2.2).

*Proof.* Proceeding exactly as in the proof of Theorem 2.3, we evidently have the required result.  $\hfill \Box$ 

We next turn to ratios for  $Re\left\{\frac{f(z)}{f_n(z)}\right\}$  and  $Re\left\{\frac{f_n(z)}{f(z)}\right\}$ .

**Theorem 2.5.** If f of the form (1.1) with  $b_1 = 0$  satisfies condition (1.3), then

(2.8) 
$$Re\left\{\frac{f(z)}{f_n(z)}\right\} \ge \frac{n+2\alpha}{n+1+\alpha} \quad (z \in U).$$

The result (2.8) is sharp with the function

(2.9) 
$$f(z) = z + \frac{1 - \alpha}{n + 1 + \alpha} \overline{z}^{n+1}.$$

*Proof.* We may write

$$\begin{split} &\frac{1+\omega(z)}{1-\omega(z)} \\ &= \frac{n+1+\alpha}{1-\alpha} \left[ \frac{f(re^{i\theta})}{f_n(re^{i\theta})} - \frac{n+2\alpha}{n+1+\alpha} \right] \\ &= \frac{1{+}\!\!\sum_{k\!=\!2}^{\infty}\!\!a_k r^{k-1} e^{i(k-1)\theta} {+}\!\!\sum_{k\!=\!2}^{n}\!\overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} {+} \frac{n\!+\!1{+}\alpha}{1{-}\alpha} \left[ \sum_{k\!=\!n\!+\!1}^{\infty}\!\overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} \right] \\ &= \frac{1{+}\!\!\sum_{k\!=\!2}^{\infty}\!\!a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} {+}\!\!\sum_{k\!=\!2}^{n}\!\overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} {-} \frac{1{+}\!\!\sum_{k\!=\!2}^{\infty}\!\!a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} {+}\!\!\sum_{k\!=\!2}^{n}\!\overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} {-} \frac{1{+}\!\!\sum_{k\!=\!2}^{\infty}\!\!a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} {+}\!\!\sum_{k\!=\!2}^{n}\!\overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} {-} \frac{1{+}\!\!\sum_{k\!=\!2}^{\infty}\!\!a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} {+} \sum_{k\!=\!2}^{n}\!\overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} {-} \frac{1{+}\!\!a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} {-} \frac{1{+}\!\!a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} {+} \sum_{k\!=\!2}^{n}\!\overline{b_k} r^{k\!-\!1} e^{-i(k\!+\!1)\theta} {-} \frac{1{+}\!\!a_k r^{k\!-\!1} e^{i(k\!-\!1)\theta} {-} \frac{1{+}\!$$

The details involved are fairly straightforward and may be omitted. To see that  $f(z) = z + \frac{1-\alpha}{n+1+\alpha}\bar{z}^{n+1}$  gives the sharp result, we observe that for  $z = re^{\frac{i\pi}{n+2}}$  that

$$\frac{f(z)}{f_n(z)} = 1 + \frac{1-\alpha}{n+1+\alpha} r^n e^{-i(n+2)\frac{\pi}{n+2}} \to 1 - \frac{1-\alpha}{n+1+\alpha} = \frac{n+2\alpha}{n+1+\alpha}$$

when  $r \to 1^-$ .

**Theorem 2.6.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.10) 
$$Re\left\{\frac{f_n(z)}{f(z)}\right\} \ge \frac{n+1+\alpha}{n+2}, \quad (z \in U)$$

The result (2.10) is sharp with the function given by (2.9). Proof. We may write

$$\begin{split} &\frac{1+\omega(z)}{1-\omega(z)} \\ &= \frac{n+2}{1-\alpha} \left[ \frac{f_n(z)}{f(z)} - \frac{n+1+\alpha}{n+2} \right] \\ &= \frac{1{+}\sum_{k=2}^{\infty} a_k r^{k-1} e^{i(k-1)\theta} {+} \sum_{k=2}^{n} \overline{b_k} r^{k-1} e^{-i(k+1)\theta} {-} \frac{n+1{+}\alpha}{1{-}\alpha} \left[ \sum_{k=n+1}^{\infty} \overline{b_k} r^{k-1} e^{-i(k+1)\theta} \right] \\ &= \frac{1{+}\sum_{k=2}^{\infty} a_k r^{k-1} e^{i(k-1)\theta} {+} \sum_{k=2}^{\infty} \overline{b_k} r^{k-1} e^{-i(k+1)\theta} }{1{+}\sum_{k=2}^{\infty} a_k r^{k-1} e^{i(k-1)\theta} {+} \sum_{k=2}^{\infty} \overline{b_k} r^{k-1} e^{-i(k+1)\theta} }. \end{split}$$

We omit the details of the proof, because it runs parallel to that from Theorem 2.2.

We next determine bounds for  $Re\left\{\frac{f(z)}{f_{m,n}(z)}\right\}$ .

438

**Theorem 2.7.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.11) (i) 
$$Re\left\{\frac{f(z)}{f_{m,n}(z)}\right\} \ge \frac{m}{m+1-\alpha}$$
  $(z \in U)$  if  $m \le n+2\alpha$  or  $b_k = 0, \forall k \ge 2$ .

(2.12) (ii) 
$$Re\left\{\frac{f(z)}{f_{m,n}(z)}\right\} \ge \frac{n+2\alpha}{n+1+\alpha}$$
  $(z \in U)$  if  $m \ge n+2\alpha$  or  $a_k = 0, \forall k \ge 2$ .

The results (2.11) and (2.12) are sharp with the function given by (2.2) and (2.9), respectively.

*Proof.* To prove (i) part, we may write

$$\begin{aligned} \frac{1+\omega(z)}{1-\omega(z)} &= \frac{m+1-\alpha}{1-\alpha} \left[ \frac{f(re^{i\theta})}{f_{m,n}(re^{i\theta})} - \frac{m}{m+1-\alpha} \right] \\ & 1+\sum_{k=2}^{m} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=2}^{n} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta} \\ & + \frac{m+1-\alpha}{1-\alpha} \left[ \sum_{k=m+1}^{\infty} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=n+1}^{\infty} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta} \right] \\ & 1+\sum_{k=2}^{m} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=2}^{n} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta} \end{aligned}$$

So that

$$\omega(z) = \frac{\frac{m+1-\alpha}{1-\alpha} \left[ \sum_{k=m+1}^{\infty} a_k r^{k-1} e^{i(k-1)\theta} + \sum_{k=n+1}^{\infty} \bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right]}{2+2 \left( \sum_{k=2}^{m} a_k r^{k-1} e^{i(k-1)\theta} + \sum_{k=2}^{n} \bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right)} + \frac{m+1-\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} a_k r^{k-1} e^{i(k-1)\theta} + \sum_{k=n+1}^{\infty} \bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right)$$

Then

$$|\omega(z)| \le \frac{\frac{m+1-\alpha}{1-\alpha} \left[\sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k|\right]}{2-2\left(\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k|\right) - \frac{m+1-\alpha}{1-\alpha} \left(\sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k|\right)}.$$

This last expression is bounded above by 1 if and only if

(2.13) 
$$\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k| + \frac{m+1-\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k| \right) \le 1.$$

•

It suffices to show that L. H. S. of (2.13) is bounded above by  $\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=2}^{\infty} \frac{k+\alpha}{1-\alpha} |b_k|$ , which is equivalent to

$$\sum_{k=2}^{m} \frac{k-1}{1-\alpha} |a_k| + \sum_{k=2}^{n} \frac{k-1+2\alpha}{1-\alpha} |b_k| + \sum_{k=m+1}^{\infty} \frac{k-m-1}{1-\alpha} |a_k| + \sum_{k=n+1}^{\infty} \frac{k-m-1+2\alpha}{1-\alpha} |b_k| \ge 0.$$

To see that  $f(z)=z+\frac{1-\alpha}{m+1-\alpha}z^{m+1}$  gives the sharp result, we observe that for  $z=re^{i\pi/m}$  that

$$\frac{f(z)}{f_{m,n}(z)} = 1 + \frac{1 - \alpha}{m + 1 - \alpha} z^m \to 1 - \frac{1 - \alpha}{m + 1 - \alpha} = \frac{m}{m + 1 - \alpha},$$

when  $r \to 1^-$ .

To prove second part, we write

$$\begin{aligned} \frac{1+\omega(z)}{1-\omega(z)} &= \frac{n+1+\alpha}{1-\alpha} \left[ \frac{f(re^{i\theta})}{f_{m,n}(re^{i\theta})} - \frac{n+2\alpha}{n+1+\alpha} \right] \\ &= \frac{1+\sum_{k=2}^{m} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=2}^{n} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta}}{1+\alpha} \\ &= \frac{+\frac{n+1+\alpha}{1-\alpha} \left[ \sum_{k=m+1}^{\infty} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=n+1}^{\infty} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta} \right]}{1+\sum_{k=2}^{m} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=2}^{n} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta}} \end{aligned}$$

where

$$\omega(z) = \frac{\frac{n+1+\alpha}{1-\alpha} \left[ \sum_{k=m+1}^{\infty} a_k r^{k-1} e^{i(k-1)\theta} + \sum_{k=n+1}^{\infty} \bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right]}{2+2 \left( \sum_{k=2}^{m} a_k r^{k-1} e^{i(k-1)\theta} + \sum_{k=2}^{n} \bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right)} + \frac{n+1+\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} a_k r^{k-1} e^{i(k-1)\theta} + \sum_{k=n+1}^{\infty} \bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right)$$

440

So that

$$|\omega(z)| \le \frac{\frac{n+1+\alpha}{1-\alpha} \left[\sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k|\right]}{2-2\left(\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k|\right) - \frac{n+1+\alpha}{1-\alpha} \left(\sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k|\right)} \le 1.$$

If

(2.14) 
$$\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k| + \frac{n+1+\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k| \right) \le 1.$$

The L. H. S. of (2.14) is bounded above by  $\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=2}^{\infty} \frac{k+\alpha}{1-\alpha} |b_k|$  if  $\sum_{k=2}^{m} \frac{k-1}{1-\alpha} |a_k| + \sum_{k=2}^{n} \frac{k-1+2\alpha}{1-\alpha} |b_k| + \sum_{k=m+1}^{\infty} \frac{k-n-1-2\alpha}{1-\alpha} |a_k| + \sum_{k=n+1}^{\infty} \frac{k-n-1}{1-\alpha} |b_k| \ge 0,$ 

and the proof is complete. To see that  $f(z) = z + \frac{1-\alpha}{n+1+\alpha}\bar{z}^{n+1}$  gives the sharp result, we observe that for  $z = re^{i\frac{\pi}{n+2}}$  that

$$\frac{f(z)}{f_{m,n}(z)} = 1 + \frac{1-\alpha}{n+1+\alpha} r^n e^{-i(n+2)\frac{\pi}{n+2}} \to 1 - \frac{1-\alpha}{n+1+\alpha} = \frac{n+2\alpha}{n+1+\alpha}$$

when  $r \to 1^-$ .

We next determine bounds for 
$$Re\left\{\frac{f_{m,n}(z)}{f(z)}\right\}$$
.

**Theorem 2.8.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.15) (i) 
$$Re\left\{\frac{f_{m,n}(z)}{f(z)}\right\} \ge \frac{m+1-\alpha}{m+2-2\alpha}$$
,  $(z \in U)$ , if  $m \le n+2\alpha$  or  $b_k = 0, \forall k \ge 2$ ,  
(2.16) (ii)  $Re\left\{\frac{f_{m,n}(z)}{f(z)}\right\} \ge \frac{n+1+\alpha}{m+2-2\alpha}$ ,  $(z \in U)$  if  $m \ge n+2\alpha$  or  $a = 0, \forall k \ge 2$ .

(2.16) (ii) 
$$Re\left\{\frac{f_{m,n}(z)}{f(z)}\right\} \ge \frac{n+1+\alpha}{n+2}, \ (z \in U), \ if \ m \ge n+2\alpha \ or \ a_k = 0, \forall k \ge 2.$$

The results (2.15) and (2.16) are sharp with the function given by (2.2) and (2.9)respectively.

Proof. To prove (i) part we may write

$$\frac{1+\omega(z)}{1-\omega(z)} = \frac{m+2(1-\alpha)}{1-\alpha} \left[ \frac{f_{m,n}(z)}{f(z)} - \frac{m+1-\alpha}{m+2(1-\alpha)} \right]$$

Saurabh Porwal and Kaushal Kishore Dixit

$$=\frac{1+\sum_{k=2}^{m}a_{k}r^{k-1}e^{i(k-1)\theta}+\sum_{k=2}^{n}\overline{b_{k}}r^{k-1}e^{-i(k+1)\theta}}{-\frac{m+1-\alpha}{1-\alpha}\left[\sum_{k=m+1}^{\infty}a_{k}r^{k-1}e^{i(k-1)\theta}+\sum_{k=n+1}^{\infty}\overline{b_{k}}r^{k-1}e^{-i(k+1)\theta}\right]}{1+\sum_{k=2}^{\infty}a_{k}r^{k-1}e^{i(k-1)\theta}+\sum_{k=2}^{\infty}\overline{b_{k}}r^{k-1}e^{-i(k+1)\theta}},$$

where

$$|\omega(z)| \le \frac{\frac{m+2(1-\alpha)}{1-\alpha} \left[\sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k|\right]}{2-2\left(\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k|\right) - \frac{m}{1-\alpha} \left(\sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k|\right)} \le 1.$$

This last inequality is equivalent to

(2.17) 
$$\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k| + \frac{m+1-\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k| \right) \le 1.$$

Since the L. H. S. of (2.17) is bounded above by  $\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=2}^{\infty} \frac{k+\alpha}{1-\alpha} |b_k|,$  the proof is complete.

To prove (ii) part, we write

$$\begin{aligned} \frac{1+\omega(z)}{1-\omega(z)} &= \frac{n+2}{1-\alpha} \left[ \frac{f_{m,n}(z)}{f(z)} - \frac{n+1+\alpha}{n+2} \right] \\ & 1+\sum_{k=2}^{m} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=2}^{n} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta} \\ & -\frac{n+1+\alpha}{1-\alpha} \left[ \sum_{k=m+1}^{\infty} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=n+1}^{\infty} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta} \right] \\ & 1+\sum_{k=2}^{\infty} a_{k}r^{k-1}e^{i(k-1)\theta} + \sum_{k=2}^{\infty} \overline{b_{k}}r^{k-1}e^{-i(k+1)\theta} \end{aligned}$$

where

$$\begin{aligned} |\omega(z)| &\leq \frac{\frac{n+2}{1-\alpha} \left[ \sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k| \right]}{2-2 \left( \sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k| \right) - \frac{n+2\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k| \right)} \\ &\leq 1. \end{aligned}$$

This last inequality is equivalent to

(2.18) 
$$\sum_{k=2}^{m} |a_k| + \sum_{k=2}^{n} |b_k| + \frac{n+1+\alpha}{1-\alpha} \left( \sum_{k=m+1}^{\infty} |a_k| + \sum_{k=n+1}^{\infty} |b_k| \right) \le 1.$$

Since the L. H. S. of (2.18) is bounded above by  $\sum_{k=2} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=2} \frac{k+\alpha}{1-\alpha} |b_k|,$ the proof is complete.

**Theorem 2.9.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.19) 
$$Re\left\{\frac{f'(z)}{f'_{m,n}(z)}\right\} \ge \frac{\alpha m}{m+1-\alpha}, \quad (z \in U), \text{ if } m < n+2$$

The result (2.19) is sharp with the function  $f(z) = z + \frac{1-\alpha}{m+1-\alpha} z^{m+1}$ . Proof. We may write

$$\frac{1+\omega(z)}{1-\omega(z)} = \frac{m+1-\alpha}{(m+1)(1-\alpha)} \left[ \frac{f'(z)}{f'_{m,n}(z)} - \frac{\alpha m}{m+1-\alpha} \right]$$
$$1 + \sum_{k=2}^{m} k a_k r^{k-1} e^{i(k-1)\theta} - \sum_{k=2}^{n} k \overline{b}_k r^{k-1} e^{-i(k+1)\theta}$$
$$+ \frac{(m+1-\alpha)}{(m+1)(1-\alpha)} \left[ \sum_{k=m+1}^{\infty} k a_k r^{k-1} e^{i(k-1)\theta} - \sum_{k=n+1}^{\infty} k \overline{b}_k r^{k-1} e^{-i(k+1)\theta} \right]$$
$$1 + \sum_{k=2}^{m} k a_k r^{k-1} e^{i(k-1)\theta} - \sum_{k=2}^{n} k \overline{b}_k r^{k-1} e^{-i(k+1)\theta},$$

where

$$\omega(z) = \frac{\frac{(m+1-\alpha)}{(m+1)(1-\alpha)} \left[ \sum_{k=m+1}^{\infty} ka_k r^{k-1} e^{i(k-1)\theta} - \sum_{k=n+1}^{\infty} k\bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right]}{2+2 \left( \sum_{k=2}^{m} ka_k r^{k-1} e^{i(k-1)\theta} - \sum_{k=2}^{n} k\bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right)} + \frac{(m+1-\alpha)}{(m+1)(1-\alpha)} \left( \sum_{k=m+1}^{\infty} ka_k r^{k-1} e^{i(k-1)\theta} - \sum_{k=n+1}^{\infty} k\bar{b}_k r^{k-1} e^{-i(k+1)\theta} \right)$$

So that

$$\begin{aligned} |\omega(z)| &\leq \frac{\frac{(m+1-\alpha)}{(m+1)(1-\alpha)} \left[\sum_{k=m+1}^{\infty} k|a_k| + \sum_{k=n+1}^{\infty} k|b_k|\right]}{2-2\left(\sum_{k=2}^{m} k|a_k| + \sum_{k=2}^{n} k|b_k|\right) - \frac{(m+1-\alpha)}{(m+1)(1-\alpha)} \left(\sum_{k=m+1}^{\infty} k|a_k| + \sum_{k=n+1}^{\infty} k|b_k|\right)} \\ &\leq 1. \end{aligned}$$

This last inequality is equivalent to

(2.20) 
$$\sum_{k=2}^{m} k|a_k| + \sum_{k=2}^{n} k|b_k| + \frac{(m+1-\alpha)}{(m+1)(1-\alpha)} \left( \sum_{k=m+1}^{\infty} k|a_k| + \sum_{k=n+1}^{\infty} k|b_k| \right) \le 1.$$

Since the L. H. S. of (2.20) is bounded above by  $\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} |a_k| + \sum_{k=1}^{\infty} \frac{k+\alpha}{1-\alpha} |b_k|,$ 

the proof is complete.

**Theorem 2.10.** If f of the form (1.1) with  $b_1 = 0$ , satisfies condition (1.3), then

(2.21) 
$$Re\left\{\frac{f'_{m,n}(z)}{f'(z)}\right\} \ge \frac{(m+1-\alpha)}{(m+1-\alpha)+(m+1)(1-\alpha)}(z\in U)$$

The result (2.21) is sharp with the function  $f(z) = z + \frac{1-\alpha}{m+1-\alpha}z^{m+1}$ .

Proof. The proof of the above theorem is similar to that of Theorem 2.9 so we omit the details involved. 

Acknowledgement. The authors are thankful to the referee for his valuable comments and suggestions.

## References

- [1] O. P. Ahuja, *Planar harmonic univalent and related mappings*, J. Inequal. Pure Appl. Math., 6(4)(2005), 1-18.
- [2] J. Clunie and T. Sheil-Small, Harmonic univalent functions, Ann. Acad. Sci. Fen. Series AI Math., 9(1984), 3-25.
- [3] K. K. Dixit and Saurabh Porwal, A convolution approach on partial sums of certain analytic and univalent functions, J. Inequal. Pure Appl. Math., 10(4)(2009), 1-17.
- [4] P. Duren, Harmonic mappings in the plane, Camb. Univ. Press, 2004.
- [5] B. A. Frasin, Partial sums of certain analytic and univalent functions, Acta Math. Acad. Paed. Nyir., 21(2005), 135-145.
- [6] B. A. Frasin, Generalization of partial sums of certain analytic and univalent functions, Appl. Math. Lett., 21(7)(2008), 735-741.
- [7] J. M. Jahangiri, Harmonic functions starlike in the unit disk, J. Math. Anal. Appl., 235(1999), 470-477.
- [8] R. K. Raina and Deepak Bansal, Some properties of a new class of analytic functions defined in terms of a Hadamard product, J. Inequl. Pure Appl. Math., 9(1)(2008), 1-20.

- T. Rosy, K. G. Subramanian and G. Murugusundaramoorthy, Neighbourhoods and partial sums of starlike based on Ruscheweyh derivatives, J. Inequl. Pure Appl. Math., 4(4)(2003), 1-8.
- [10] H. Silverman, Partial sums of starlike and convex functions, J. Math. Anal. Appl., 209(1997), 221-227.
- [11] H. Silverman, Harmonic univalent functions with negative coefficients, J. Math. Anal. Appl., 220(1998), 283-289.
- [12] E. M. Sivlia, On partial Sums of convex functions of order  $\alpha$ , Houston J. Math.,  $\mathbf{11}(3)(1985), 397-404.$